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210 S FAM 2= 4,000 4,000 0
216 Ol Xh==& 4,000 4,000 0
216-01 220U S0 X==¢ 4,000 4,000 0
CEEYENVPAEN- 4,000
220 LA E A2 65,000 5,000 60,000
224 J|Et==2 60,000 4,000 56,000
224-06 12 =¥ 60,000 4,000 56,000
02 LSS 544 60,000
225 Xt & == ¢l 5,000 1,000 4,000
225-01 NtHAE 2 5,000 1,000 4,000
OB/ET 2SS sl4a 5,000
500 Ex3 1,239,251 1,005,590 233,661
510 = 12X 3S 904,249 728,077 176,172
511 =18x3S 904,249 728,077 176,172
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S MENEAIHE D
o700 BHLASULHRH Y
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8 711 202 CLEE
SN2 Ol &k 24 B ol by HZE2
MEH S AL AN E 1,500,000 800,000 700,000
700 28U SHUHR HH 1,500,000 800,000 700,000
710 284S 500,000 600,000 A 100,000
711 dHS 500,000 600,000 A 100,000
711-01 = MAL 03 500,000 600,000 2100, 000
O=MHANS 500,000
720 LHE HeH 1,000,000 200,000 800,000
721 HY = 1,000,000 200,000 800,000
721-03 JIEt A M = 1,000,000 200,000 800,000
ogus M3 1,000,000
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=D 46,000 8,000 38,000
200 AI2l4¢l 3,000 3,000 0
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205 Xlkol C 49l 3,000 3,000 0
225-01 Xlttol & 49l 3,000 3,000 0
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700 BELAS UL HeH 43,000 5,000 38,000
710 BE40S 43,000 5,000 38,000
711 20i3 43,000 5,000 38,000
711-01 =KL 0i 3 43,000 5,000 38,000
CEY b ! 43,000
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216 Ol Rh== 260,000 293,915 A 33,915
216-01 220U 301 Xt=+=¢ 260,000 293,915 A 33,915
CEEYENPESS 260,000
700 Ed=ASHUHE NN 20,000,000 20,270,000 A270,000
710 282 S 20,000,000 20,270,000 A270,000
711 dHS 20,000,000 20,270,000 A270,000
711-01 =AMALH S 20,000,000 20,270,000 A 270,000
CEY b ! 20,000,000
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212 B2 ¢ 13,000 13,000 0

212-08 JIEtAIE = 13,000 13,000 0
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0= ZE =XE 8,000,000& *12& 96,000
OLdS =XE 4,300,000& +12& 51,600
O=stits =XHE 1,740,000& x12& 20,880
OLNLS =RE 4,000,000& +12& 48,000
@HME =XHE 8,100,000& 123 97,200
@2z ¥ HFH A 20,000,000& =122 240,000

214-09 J|EFALE ==& 84,000 96,000 A 12,000
OHoE Y HAABRAS 7,000,000&+12& 84,000

215 ExuR=+Y 12,000 12,000 0

215-01 A== Rs3+¢ 12,000 12,000 0
oOnds FrURES 40,000, 0002 *30/100 12,000

216 Ol At==¢ 20,000 30,000 A 10,000

216-01 23030l A== 20,000 30,000 A 10,000
o3302 0lX=¢ 20,000

220 AN 2= 11,631,000 11,291,000 340,000

222 R ES 2,080,000 2,150,000 A70,000
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OFx& &XHE 5,000, 000& 2024 100,000
OLNsRERLES 1,980,000

223 WE=LUEHE S 5,560,000 5,436,000 124,000

223-01 HE=HolHL NS 220,000 210,000 10,000
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O=.ZX < W= 40,000& x9,300CHx12& 4,464,000
224 JIEt==¢ 280,000 280,000 0
224-06 12| =g 280,000 280,000 0
ONsXHsSE HSEMH 8,000& *25,000= 200,000
OXNsXHsE s B M 4,000& *20,000= 80,000
225 KA e =g 3,711,000 3,425,000 286,000
225-01 NHAE =g 3,711,000 3,425,000 286,000
OXtsxtely Bt BEHZ 38,000,000& =122 456,000
OZolH&EEY AL BEHS 66,000, 000& =122 792,000
O . FXeIE HEHZ 200,000,000& =123 2,400,000
OLNsSRLRELS 5,250,000& =122 63,000
700 2 +=ASHUHE NN 1,700,000 1,700,000 0
720 LHE HeH 1,700,000 1,700,000 0
721 M= 1,700,000 1,700,000 0
721-03 JIEtS HE L = 1,700,000 1,700,000 0
OgeaH 8= 17,000,000,000& =10/ 100 1,700,000




